RAILWAY RECRUITMENT BOARDS
Yo et a2

Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted
and used for raising objections
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Ans 1 C
X2 A
X3 B
v 4D

Q2 3w vs 72 m % AT § T §1 T8 TF O ¥ gE O a9 R o AT 99 38 T8 A
H 144 m 1 gl & B # a7 Fa §, 3 g @ A S
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e XK1 2,04 ms
V7224 ms
<2260 ms'!
X4 367 ms!

Q.3 20th of November 2018 is a Thursday. 29th of November 2021 will be a
Ans X 1. Saturday

/X 2. Sunday
v 3. Monday
/X 4. Friday

Q.4 Rffe v F T F99 F AT F R Fae Fr IR T 3ET BT ST B

Ans XT aj

X 2 PlelARSAT
X 3. EFIARISAT
v afteafes

Q.5 Who among the following was appointed as a whole-time member of market regulator Securities and Exchange Board
of India (SEBI) on 7 November 20177

Ans X1 UK. Sinha
< 2. V. Ramakrishnan

X 3. Neelam Damodaran
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' 2 Sanjeev Kaushik

¥ Rw T FHEROT ¥ g ¥ GEOF IUGFS AT F T R

cot 307 1 +sin 45°
1 +sindb? cot30°

Ans 543-646
R =

X23-2y3

), 144/3-546
W 3
B
BvE-543
X a
B

Z8

¥ uF geree g

Ane X 1. Ferifams (Magnesium)
v 2 FafIF (Chlorine)
X s fFeera (Krypton)
X 4 AizEaE (Sodium)

¥ gfEe Ties AN R aEfiEe F
Ans X 1. aTTUTTESr g
v 2 gf¥as e
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53 TERIA
X 4. FERTE

¥ PfT F ¥ FiF @ R gl e g

TR ITepTcIET:

[o><o0 [ooo< [<ooo> [?

e smpiaa:

A B C D
<oo<on | Ponoo< | <oti>en | ><oowo

Ans 1 C
X2 A
V3D
X 4B

a cot*® + cot?0 = 2.2, & cosec*d - cosec?f =7
e X1 0

<2 1.1

<333

V22
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G R & T e % AR IWEN WEA AT H
26, 29, 33, 38,

ans X1 42
X250

v's 44
X 4 54

%' ofE C=24, EYE=46, ar FOX T &2
Ans X1 38

v'2 36

X3 35

X 4 40

%' ‘COUGH' #r &fasr adur oy Fa7 &ef?

COUGH HaU02 CONGeH HOMGD
A B & D
Ans x 1.

X
O » @ O
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041 A R 71T st F agers, Aftger AR AT F AYAH FAEGE A S|
7,2, 10, 4,3, 12, 8, 4, 6, 4.

Ans X 1. 30

X212

v 2 60

X420

Y SRR vt F 3Eer ug Fmr 2em?

24X, 22V, 20T,
Ans of 1. 18R

X 2 16P

X< 3 R18

X 4 P16

Q.1 100 kg zemmE A THEAEG F 6 s F 5T F UTmsT ¥ 3 & vwAw W @ @R B @
¥ ITg T TN AT ae & IR 2l

A X1 200 ms™?

X2 200 ms™
'3 200 N
X 4 200 Pa
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Q.1 Which of the following project’s objective is to ensure the operational turnaround of the banks and stressed companies?
7

Ans X 1. Project Samridhi
2. Project Sukanya
' 3. Project Sashakt
/< 4. Project Parivartan

U bxy?z, 8x2y322,12x3y32® W HE. AT P
Ans X 1. 2xyz

X 2 4xy?z

X 3 3xy?z

v 4 2xy?z

% 233 g zinc &, e FrEEwm @
Ans of 1. 0.35

< 2 025

X 3 053

X 4 037

Q.2
www.karmasandhan.com
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' e AT RS e

Ans1. 40
211
3. 15
413

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

01-2 UF FUS F A &7 I oF T §| AR Tg 97 T § B Fua F Geu F FHA @ FF / mw=g E
FYA:

FT T4l & HEeTal & HH #l F & Soded O H WY FSl 1 YA T A

GLH
. &, sO® T & goa get At el semerar # it agrEr e
Il. &, ot weer ¥ i ofeEd ¥ fem w5 =i 7 5 E

e XK AR 1 e & mereE
Xoeaarl3diRa@ Il 79T €
V5 Fael % | AT §

X4 haet e || A=GT B

Q2 2017 # AT 643 el oot 318 & TEHSE HPAT 1 TEHN 5wt Sem?
Ane XK anfeR @re
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X 2. METH G
o 2 3T FHAR

X 4 TolHTeT T

Y o sATe@aerar _ FEa
M e Fe

X 2. Sarem (WIEe) FAT

X o Sa(ETEEe)FA

X 4 GTAT] FSAT

Q.2 7 6000 #r T & 20% = e & ax @ Pdw By smar #) ofe @ wfe oA & @ o 18
4 e g s T @

Ans o 1.3 7,986
X2 T 7,896
23 T 7,800
X4 T 7928

Q.2
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few v Fuet i Fredt @ aaeEE 9 it 99 & FF @ Trew afde w9 F Fue & e
= #

Y:
WS I FAT TG ek TN T
forsad:

| HTHEr ST 38T F4T F 2l

II. & T TFHT QU F A% TR F

MK A A HR A &1 HgEROr e
2 Faer TS || HeTEROT FET B
X 3 el TSy | HFETOT T B
X o T TSRy 3gEeT X g

Q.2 Vimal is the son of Mikka, and Nina is the daughter of Milan. Milan is the sister of Mikka. Who is Milan to Vimal?
6

Ans X 1. Sister
v 2 Paternal aunt
2 3. Maternal aunt
< 4. Cousin

Q.2 24 experts can do as much work as 40 trainees in a given period of time. A piece of work can be done by 9 experts and
7 25 trainees. How many trainees alongside 12 experts would one need to complete a similar work in the same duration of
time?

Ans x-]_ 3
v 2 20
X318
X4 24
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L Rrafofea 4ot F wea fEa (7) # BT @ TE viowiE weEn

K | AA YA | K "y | VA Q
YA | N0 NGO | AA AL | K
L 1
YA | R A K | AA B
N | AA va | N0
c N | A D
AL | KN
A& | NO
K | VA
Ans «1. C
X2 A
X3B
X 4D
Q.2 - . . G
o EOITeE UI3ET A e veie faggAe g g
e o R
X2 gifEs
X3 e

X 4 g

Q.3
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B e vF dER &1 7.2 A # 9T = FFar § FES AY FaE FH 5 A 10.8 BT W
TSH-ATe HTH el I SN &F 5/6 96T F 92 1 7 et Ty swmer?

Ans X1 4.8
V2 36
<339
X442

Q.3 3-0.2 iy
0.1 % (3+0.2)

Ans o 1.8.75
X2 875
% 3 0.0875
X 4 0.875

Qésﬁvmélamﬁmmga

1200, 600, 300,
Ans X 1. 75

v 2150

X 3 250

X 4 500

Q.3
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T 39 FR A g O A F TF I) S €] 36 A8 AT 56 AR # Ugier #ET §,
ar 3ETE geae 98 B e Oge sweeEe

v 1 FIEER AT YFER
X2 FETeER AT afFaR
X 3 HFEER R AR
K4 Ifgemr 3R afeEw

Ans

93 0.36+0.284+ 0.4 X 0.8—0.038 =2
ans X1.1.25
X 2 0.548

X312
v 4 0.89

U3 Frafefem # & 17 @ RBweq sphy T g & weas qamar auier 7

Ans o

X
> W0 O
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% = 2018 ¥ FETAT F gEEES A ¥

Are XK & gomelr TR
X o U Teg g AT

v F agdEr 19
X 4 F IR TH T

93 The objects that produce their own light are called as:
Ans X< 1. Transparent objects

+' 2. Luminous objects

/< 3. Translucent objects

/< 4. Nonluminous objects

% afr g x4584, 11 ¥ Femsw &, O x = =T F7 g2
Ans X" 1.
X2
Vv s
p 8

(%1 O R LS B =

Q.3
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Telae FT OT 2
Ans J1m :

X 2 &

X 3 SETelr m@TE

X 4 Hraer

064 The guard cells swell when flows into them causing the stomatal pore to open.

Ans X' 1 enzyme
v 2. water
/< 3. chemical

X 4 hormone

01-4 a¥ 2017 &, fow sieedn safer & s [ @ Afgen @t @ S @ wEew e ara
BT a1?

A of 1 T o F9
X 2 & g AfPaua T
X 3 T grehr g5 &9

X 4 T FAATeT TF g
% T & A A F 8 sdEEAt ¥ Fy die ST @i ¥
ans 1 XE
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X 2 Kr
V'3 Ar
X 4 Ne

Q.4 v Rrwer 1 R 2 HoET-3EE Rt ¥ 9% BT AT 1@ #r 600 Ser wiedr §1 20% e Rrskar

3 .1 3k 80% ATer T -2 ¥ R AT ¥ O e # FT HEU T 25 ¥ AT -2 & AW A e
FTA F G, GFFEN FH AT ToT § 7 25% A f&F ve e $r 33fy g% & s9der B s wwar
El 58 Ao a9w sies 7 SEer sar §1 BT -2 ¥ 5 fhaer oF aw e

Ans X1 % 3,500
v 2 % 3,000
23 % 3,750
2 4 % 4,000

Q.4 Pallavi’s house faces East. On entering her home, you will find a gallery to the right-hand side and on moving 90°
4 clockwise from the gallery there is a balcony. Which direction does the balcony face?

Ans of 1. East

< 2 South
X 3. North
X 4 West

Q.4 In the modern periodic table, elements having atomic numbers 11 to 18 are placed in period:
5

Ans X-L

X
w
A
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06-4 TF TEAGES FT TF o= 37cm AR $HH S¥6w 840cm? ¥ 36 RHUT ¥ wEE 7 AT A
FfeT

Ans X 1. 84 cm
X247 cm
X3 42 cm
v+ 94 em

07-4 forelr avg 1 9R(@EM) 20 kg 1 T2 F 3W TTg F AR (F)FAT R [g = 9.8ms™?]

Ars o 1196 N
X2196 N
X3 -196 N
< 41960 N

Vaersa | ¥ 3ea ¥ §Efeg B
Ans x_lmw

v e

X o T 3R

X « e
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Q.4 A group of five students took a test. Another student joins the group after taking the test later. With her marks included,
9 the average score of the group went up by 2. This student has got marks more than the average marks without
her being included.

Ans X115
X2 14
V'3 12
X 418

Q.5

S B £ @Y SE T °  TREf AR
Ans x1 1

9

X2t

25

v —

27

}(4.i

26

Q.5 737 v 95 m = T F AT §1 9F TF O ¥ g O 9% o o AT 9 38 T A
T %190 m #r gff v free & 7 a<aT 8, 3EH siwa I wE S

Are X1.2.05 ms!
X2 310 ms!
X2 200 ms'!
v 317 ms
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02-5 TEE FH 3H H AEE vEe AR AEe TeRW (T 1 wEte Rrew) w e ava s aelr g
T &7

e XK. wSEr T
X 2. O qriEer
X 3 35fomET e
4. FemaTg o

QS5 gz Hr AT 20 cm X 12 cm X 8 cm ¥ 16.8 m 5=, 2.5 m = v 12 cm A faw === &
3 fru fraer &1 Hr =TT B9

Ans 1. 6252
X 2 2652
X 3 5262
v 4 2625

Q5 3 AR & oEE SRR H ST § A e & ffF FH @ A F

4

Ans x1_ W—ﬁ g
v 2 3mef
X3 Th

X s e wteré

© I WERR Sfae A Rl AR Afen Geate e Ha o
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A 1 s AaE &
Xz.wazﬁ-
X 3 gt =
x4 wfefa e

Q5 v um & Fant & wwas F=5 A 3= F 9T F es BE F 9 §1 3 v & e @
6 @ A @ & Avwe F IET AW F R §, @ g B B ard R geir

A X1 288 Fferem
v 2 576 Tf=eH
X 3 432 TfeieH
X 4 336 FfercH

¥ crdE(@EEeE) o g
Ans xl w

V2 TEGH

X 3 TR

X a gglﬂ-

Q.5
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3 U=al & e & v 9w @5 & 3 gul & @ G & e 9 arfesr & B oae §
I o T & T

=1 T2 | T=F 3

T 1 15 12 9
=¥ 2 12 14 8
av 3 14 15 13

I 1 @ av 3 & HH F o giowT 3w 2
Ans X 1.18%

X 2 15.67%

X 3 19.67%

v 4 16.67%

U R & ¥ H W T T g 82
Ans x_lglm
X 2 W
v g
X o gy

Q.6 firl avg F Fa 7 & e & ghw, TefefEm & @ 20 @ 5o s e F ORh oe fig e
0 s

AR S
X 2 qrarafas F=r
X o feufas F=r
X 4 iy F=T
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L g F g et & Fa @ = O E
A o Tefae F

X2 fega F

Ko afgs Far

X 4 ToCATHIUT FAT

M40 -(90 +5x16—-8 +2=+3)="2
Ans X114

X 2 64

v': 16

X 2 28

Q.6 TrafRfRa & 3 F9 & I79 o 17 § a7 EThires wFe TRt § 7945 FAER e - B
3 = gwER d

Ans ?(111'iﬁﬂ1'ﬁl‘¢_:rr
Vo HTS TF
X 5 TSR SR
X 4 ST 7T
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% TN oSS aF ¥
Ans S

2. C|

3. Mg

4. Al

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

05-6 Who is the first chairman of the Goods and Services Tax (GST) Council?

Ans X 1. Prakash Javadekar
# 2. Suresh Prabhu
/< 3. Rajnath Singh
' 2 Arun Jaitley

066 S, R¥ 7 a¥ oer §1 A 341 HY F 3 7:9 &, A S &1 30y B &7

K16 @

<228 9§
V3245 3%
X418 I
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07-6 A & W AT XYZ F9 F T (307 T &) R wfera & wmer #v geidr 2

ELl CaEUGES
2012 10
2013 15
2014 10
2015 12
2016 12

T¥ 2012 3K 2016 F 7 & Torsiar & 9iEaT & gfaea a1 &2

e X1 0.2% 3
v 2 20%
X< 3 5% 3=
X4 12% 3

Qé" 2.05 HeX 7 TH (WWS F A F 2 m A T4 IR F= Al A= Hifew
Ans X 1. 41%
V2 2%

41
X3 42%
X4 229

51

Q.6
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Which of the following correctly represents the relationship between:
A) Pages
B) Preface

C) Books
0*)

S\ 00 @
A

C

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

067 mm%ﬁ%aﬂ%dﬁﬁmm#mﬁ:wm éﬁ:#@mg’lﬁqgﬁ%d‘é’ﬁmﬁﬁ
FT WhT ¥ BFT = FY SW WET TWieT W 9 I - @t anl FF A ey F fraar

AT TEET?

X 1.3 5T 20 B=e
X2 3 g¥ 45 B
X33 g 15 B=e
v 3 gE 30 e
Y fs w uig & T g ¥, S wgh w & ¥

X
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X2 eafy
v g
X 4 aTEH

QZWﬁmqﬁﬁwmwﬁmamﬁgﬁgﬁzﬁ?
e a—s

v w

Ko HEs

X o S

°3'7 Work is done if there is

Ans o 1 energy
X 2. power
< 3. force
X 4 friction

Q.7 v wieT F 9= 7 272 3 IoF FT I 64% FF U FOT F aUaT oT) wieT A o 9 o
4

Ans 1. 440
X 2 475
X 3. 450
v 4 425

Page (26)




Y i wethe & Bwor & SR g F 3T S04 8, @
" s @ A §
X 2 5% 3eaEs gaar &

X 3 FHYUT TEhS F44T &
X 4 i g4 B

% 3mTEd 2018 A%, TEEL A 9RER weawr 7 FiT §2
A 1 S wEsr

X 2 e 7w
A5 30T Sl
X4 qrer g g

YV afr e & ¥ 5w AR # a9 O I a1 2
A S

v 2 3| ey

X 5 Il WIAT(degH)

X4 e e
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Q.7 Ty & 120 km Fr i TEfee g@mr o Toog ofd & 59 #n1 3Ry 5o Tsfeer 9fF 92 3 km o
8 <o g o 5% vimew aw e & & 6 i S| 9F At i ke # St S
e & wEfre TR

Ans K112
X210
X3 8
v 415

% 30 fiee ¥ 40 e & AT F W w7 F R S 82

s of1.3:4
X21:80
X31:20
X44:3

% Tear 2018, sE F WA HI FAT &2
e X et e

v 2 gmade g wR

X3 3HE AT o

X a4 -{{go-! HIATI

Page(28)




Q.8 Arpan, Tanvi and Rishav shared a cake. Arpan had i of it, Rishav had% of it and Tanvi had the rest. What was Tanvi’s
1 share of the cake?

Ans ( .
X2
X3

>
F R Y o [s RN ST« RN
N

02.8 T 71T Fust W AR w5 3t o o & & i seumronat § @ Sl O Fue § Ak
Y

faege vEva & 34 et & Wes FEd HRas S 9T & § S 35T W waT § e A8
= g

HIEO:
. ¥ faeamerd $r 9fgver # §AC W e
Il 3 ot 7 srgeme 1 e Feer e #)

Ane X1 Fawr | HaRd B
V2 | AR S & safaRa B
Xegarldradrl saaga &
X+ Faer || Fafafa &1

Y A RT aw eet F ¥ 3@ oee 2

A B c D

5E 015 T21 25y
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Ans x-l_

X
00 >» wm

048 Read the statement below followed by two conclusions.

Statement:

All cables are chairs. No chair is pen.

Conclusions:
1. No cable is pen
2. All chairs are cables

Which of the conclusion/conclusions follows/follow from the above statement?
Ans  of 1. Only conclusion 1 follows

# 2. Both conclusions follow

#< 3. Either conclusion 1 or 2 follows

/< 4. Only conclusion 2 follows

Q.8 2017 & gror & & I I THRAHT FRTET Fhe F T T F qEw T god AR
5 after sedee 1 AW TA

e 1 fRETe I
X 2 AT R
X o 3 Fomfd
X4 AT ARH
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% i wfger fEw w9 5w fw wawr S i
Ans X1 9 ;qé'

v 28 ae

X3 9 REY

X+ 8 oIS

U8 rewmer #, TEMPLE &1 053625 % &7 # fogr sem @1 PRAY & forw iz §2

Ans o 1. 6815
X< 2 6816
X 3 6915
X 4 6314

% 2017 # forgFa B 71T 9IRT % FET FAFEer AR FAC?
Ane X Tt W

v 2 e e

X3 T TeAET

X+ T g
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Qés afE TAM 1 oF #15 % 7 F 20113 for@r =mar €, 3 GRIND & faw s =27 geme

Ans K 1. 6189144
V' 2 7189144
X 3 7189154
X 4 7199144

29 In sexual reproduction, the parents contributes:
Ans 1. All of its genes

' 2. Half of its genes

/< 3. Three fourth of its genes

/< 4. One fourth of its genes

@9 75 [35— {63 — (79— 54+ 9 X 6)}]= ?
Ans f 1 5

X223

X3 25

<415

Y ST WA FT YA GEA T BT H
50967, 59964, 59961, 59958,
ans 1. 59956
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X 2. 59954
v 3 59955
X 4. 59957

L Fewgeta Far #, AR WA A verer At # & FaTaT o)
X R
v SaR

X 3. FTerar
X 4 TS

Qf FesoT #, EARN &7 4073 & &9 # forar 5mar €1 LIGHT & fow &g #ar 82

Ans 1. 19679
X 2 18671
X 318670
v 4 18679

Q.9 Viki cycles 2 km towards West and then turns right and cycles 1 km. In which direction is he with respect to his initial
5 position?

Ans  of 1. North-West
< 2. South-East
< 3. South-West
#< 4. North-East
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Q.9 The name ‘Bharata’ is used as a designation for India in the Indian Constitution referencing the ancient mythological
6 emperor, Bharata, whose story is told, in part, in the Indian epic

Ans X 1. the Upanishads
/< 2. the Ramayana

X 3. the Geeta
v 4 the Mahabharata

Q'g - - . -
7 is used as a catalyst in the hydrogenation of vegetable oil.

Ans X 1. Lead
< 2. Helium
v 3. Nickel
/< 4. Hydrogen

© fwm $r g F=:

X22 W23 Al D4

s of 1 A
X2D
X:B
X4 C
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%° Which one of these is found in human males only?

Ans 1. X _ chromosome
X 2. XX chromosome
v 3 Y- chromosome

X 42X chromosome

Q1 s a W, 3, OF AT Tl eer Tarwe AW ) ¥ R, sEw argat & a e & v aw meh

00 m2oxr @ Okg 3 &7 3TTNT HIAT ¥1 TR e T F AT ST BT A TS W T F 3
20% 3T AT ST §, A ¥ s ¥ AT S9ENT RRU S At Wi SReT ¥ A W areafde AT
(g #) =1 gar &2

Ans 11500
# 21000
V21800
X 4 2000
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